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Note : Attempt all questions.
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Instruction : (A) Question No. 1 is an objective type question. It has three
parts—Part (A), Part (B) and Part (C). Part (A) has Multiple
choice type questions, Part (B) has Match the following and

Part (C) has Fill in the blanks. Each part has 5 questions.
Each question carries 1 mark.
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(Part-A) Choose and write the correct option :

() T wHr Yy W e o S R 2

[1x5:

(37) =7 (%) i 9y

(F) 39aF (?) o yfy

Which type of land is most suitable for industries?

(a) Forestland (b) Agricultural land
(c) Orchard land (d) Barren land
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BMI stands for :

(@) Body Measurement (b)) Index Body Measurement

() Body Mass Indicator (d) Body Mass Index

(iif) T 1 FES A
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The name of the Parliament of Russia is :
(a) Lok Sabha (b) Vidhan Sabha
(¢) Duma (d) Cazar

(iv) yorrer At 9 el @ g fRe R ar?
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Who had led the ‘National Socialist Workers Party’?

(a) Mussolini (b) Hitler

(d) Mahatma Gandhi

(c) Hana
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Which of the following is helpful in making globalization strong?
(a) Information Technology (b) Workers

(c) Government (d) Goods
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(v) TeifasA - = (3) 1950

(Part-B) Match the following :
Part (A) Part (B)

() Life expectancy - (a) Physical weakness

(i7) Constitution - (b) J.L.Baird
(7if) In Korba district
(iv) Invisible hunger

1

(c) Average age

(d) Establishment of Bharat
Aluminium Company Limited

(v) Television - (e) 1950
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(Part-C) Fill in the blanks :

(i) R H — = HagH H1 AUFR 7
InIndia __ has right to vote.
(i) Teg e fawt wewyw diaum § — A wega T
Hindu Code Bill was first time presented in the Constitution by ___.
(iif) MA@ AT F =l IF ER H TS "R — W
TR IYET=] HIFT I |

Under P.D.S. programme every month the eligible family gets
food at __ rate.

(iv) —¥ W F aiffs smg-=1g 51 g e )
The df:tails of the Government’s annual income and
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(v) WA H ehe A T % R A w0 w1 — AR

In India, elections are conducted by the __ to establish democracy.
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very short answer type questions.
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yg-2  USIEeHH 27 2]
What is Andosalfan?

-3 ﬁﬁﬁmﬁ#ﬁﬁq—m@ﬁﬁm'@%%? [1+1)
What are the different bank accounts in which people
deposit money?

-4 3w @t & A faraed [1+1=))
Write the name of two metallic minerals.

wA-5 o o ol frafa w H o fafa (1+1=2)
Write the differences between import tax and export tax.

y1-6 W%Wﬁﬁﬁ;q&; g3? CGBOARDonline.com ]

In between which two countries the Cold War was held?
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Instruction : (C) Question Nos. 7 to 10 are very short answer type questions.

Each question carries 3 marks. (Maximum word limit of
answer is 50 words)

W=7 SO BE-HE QS y e [1+1+1=3]

What are the figures obtained from census?

U¥1-8 @wmam%ﬁ;m%m%mwﬁ#mﬁﬁﬁ
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at may be causes by which there i - ’ .
of food crops after the 70th centu:yl?s e
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Why did t
y did the Peace Movement for disarmament begin in Japan?
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“Flexibility in labour policies helps companies.” Clarify
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Instruction : (D) Question Nos. 11 to 14 are short answer type questions
Each question has internal option. Each question carries
4 marks. (Maximum word limit of answer is 75 words)

quA-11 U9 ST=Ie Ud 3TEH SR H S-S O GaFa € ? 79 faEn
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What are the similarities between Punjab Movement and Assam
Movement? Write your opinion.

37erqT/OR
feg Fre faa =11 a=an & =1 2T 2 FHEET

If Hindu Code Bill would have not been made, what would have
happened? Explain.
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Write the four causes of rise of Mussolini in Italy. '

3741/ OR
I A mm%wi'mﬁqgwﬁﬁmﬁ?mﬁwﬁm%?
What may be the negative environmental impacts of digging? Whatare
their solutions?

" WT-13 mﬁaﬂwmﬂ@?w&:ﬁﬁﬁ?ﬂﬂfaﬁﬁﬁﬁml

When was the League of Nations established? Write any three

principles of League of Nations.
CGBOARDonline.com 3%@7/0R

sl Lﬁmﬁgg?mﬁm?ﬁﬁwﬁﬂ#ﬁ@m
When was the Treaty of Ver

sailles happened? Write its three main terms.

[1+3=4]

P.T.O.



CGBOARDonline.com [6]

and degradation? Write your opinion.

e i el & 9

What are the human factors of |
3r9&/OR
ftT e % I HTH H T S|
Explain the four factors of the land management.
pEw  : (3) WS 15 T 16 dnfsada w ¥ | e w F S
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Instruction : (E) Question Nos. 15 and 16 are long answer type questions.
Each question has internal option. Each question carries
5 marks. (Maximum word limit of answer is 100 words)

qva-15 Tty Sifuard & wiredt &t v S| (HE ure) [1+1+1+1+1=5]

Describe the rural settlement patterns. (any five)

75T/ OR CGBOARDonline.com
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What are the problems arising due to urbanization? Explain with
example.

qv-16 e N R e A S W e @ @, @ 5w e
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If Reserve Bank of India will not keep control on commercial banks,
what will effect on money and credit?

arerar/ OR
01 3 fere v dY-oe o, T, G aen firt nfe i sTEvEEn
i St & ? Tl I ol THART |

Why some conditions like interest rate, time, guarantee and mortgage

etc. are essential for loan? Explain each condition.
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Vong mnsres Ly dmstions
Each question has interna) Option. Vuaehs epumstion; satees

6 marks. (Maximum word limit of answer s 1% wnds)
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What similarities and differences do you v batwern foe
communication of Print Media and 1.V.7
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'Expiain any three important means of cummunitation.

Wwwﬁﬁww%?mmaﬁmwﬁﬂwmﬁ
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What is judicial work of the Parliament? Why has :Jjn wexk bees
given to the Parliament and not o the Supreme Court

argar/ OR
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ent Assembly take to strengihen peopie

’ onstitu .
What steps did the C { the Ccnstitutmn?

; "
participation in formatio
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